


• When the time is 5:40, then what is the angle b/w the hour hand & the minute 

hand of a clock?

• जब समय 5:40 होता ह,ै तो घड़ी की घटें की सईु और ममनट की सईु के ब़ीच का कोण क्या होता 

ह?ै

A.70

B. 74

C. 60

D.80



• What was the day on 15th august 1947 ?

• 15 अगस्त 1947 को कौन सा मिन था?

A.Friday

B. Saturday

C. Sunday

D.Thursday



• Which letter group will come in place of the question mark (?) to complete the 

given series?

• ि़ी गई श ंखला को पणूण करने के मलए कौन-सा अक्षर समहू प्रश्न मचह्न (?) के स्थान पर आएगा? 

• HEART, JEART, JGART, ?, JGCTT, JGCTV

A. JGATT

B. JGCRT

C. JEART

D. JECTT



• Arrange the following words according to dictionary order.

• मनम्नमलमखत शब्िों को शब्िकोश क्रम के अनसुार व्यवमस्थत करें।

• 1. maculate 

• 2. macabre 

• 3. magniloquent 

• 4. magnitude 

• 5. magnanimous

A. 12345

B. 32451

C. 21534

D.25413



• In a certain code ANIMATE is written as CLKKCRG. ALIGN is written as 

CJKEL, How is DESIGNER written in that code ?

• एक मनमित कोड में ANIMATE को CLKKCRG मलखा जाता ह।ै ALIGN को CJKEL 

मलखा जाता ह,ै उस़ी कूट भाषा में DESIGNER को कैसे मलखा जाएगा?

A. FCUGILGS

B. BGQKELGP

C. FCUGILGT

D. BGQKEMGP



• In a certain code language, AMAN is written as 1415 and BUNTY is written as 

23527 then how will KAMAL be written in that code language?

• एक मनमित कूट भाषा में, AMAN को 1415 और BUNTY को 23527 मलखा जाता ह ै तो 

KAMAL को उस़ी कूट भाषा में क्या मलखा जायेगा? 

A. 21315

B. 21413

C. 12132

D. 21314



• 2 : 32 ::  3 : ? 

A. 44

B. 81

C. 34

D.243



• In each of the following questions, four words have been given of which three 

are alike in common while the fourth is different. Select the different one from 

the given options.

• मनम्नमलमखत में से प्रत्येक प्रश्न में, चार शब्ि मिए गए हैं मजनमें से त़ीन समान रूप से एक ह ैजबमक 
चौथा एक मवमभन्न ह।ै मिए गए मवकल्पों में से मवमभन्न का चयन करें । 

A.Tomato/टमाटर 

B. Eggplant/बैंगन 

C. Cucumber/ककड़ी 

D.Potato/आलू



• What number will come in place of the question mark?

• प्रश्न मचन्ह के स्थान पर कौन स़ी संख्या आएग़ी ?

A.48

B. 28

C. 7

D.36



• What number will come in place of the question mark?

• प्रश्न मचन्ह के स्थान पर कौन स़ी संख्या आएग़ी ?

A.22

B. 32

C. 42

D.52
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• R is taller than T. Both P and Q are taller than S, whose height is between P and 

T. If is taller than S,T, then who is the shortest?

• R, T से लंबा ह।ै P और Q िोनों S से लंबे हैं, मजसकी ऊंचाई P और T के ब़ीच की ह।ै यमि S,T 

से लंबा ह,ै तो सबसे छोटा कौन ह?ै

A.P

B. S

C. Q

D.T



• When will the calendar of the year 2007 be repeated?

• वषण 2007 का कैलेंडर कब िोहराया जायेगा।

A.2016

B. 2013

C. 2011

D.2018



• Statements: 'The patient's condition will improve after this operation'.

• कथन : 'इस ऑपरेशन के बाि रोग़ी की मस्थमत में सधुार होगा'।

• Assumption :

• (I) The patient can be operated upon in this position.

• (II) The patient cannot be operated in this condition.

• पवूणधारणा :

• (I) रोग़ी को इस मस्थमत में ओपेरेट मकया जा सकता ह।ै

• (II) रोग़ी को इस मस्थमत में ओपेरेट नहीं मकया जा सकता ह।ै



• Find out from amongst the four alternatives as to how the pattern would appear 

when the transparent sheet is folded at the dotted line.

• चार मवकल्पों में से ज्ञात कीमजए मक जब पारिशी श़ीट को मबंि़ीिार रेखा पर मोडा जाता ह ैतो पैटनण 
कैसा मिखाई िगेा।

X 1 2 3 4



• Find the number of triangles and squares in the given figure.

• मिए गए आंकडे में मिभजु और वगों की संख्या की ज्ञात करें।

A.28 मिभजु, 3 वगण

B. 24 मिभजु, 5 वगण

C. 28 मिभजु, 5 वगण

D.24 मिभजु, 3 वगण



• If the sign '÷' means '-', the sign '-' means '×', the sign '×' means '+' and the sign 

'+' means '÷', then solve-

• 20 × 60 ÷ 40 - 20 + 10 = ?

A.60

B. 80

C. 0

D.40



• A clock reads 7:15, find after how many minutes after 7, both the hands will be 

at an angle of 90 degree for the second time?

• घड़ी में 7:15 बजे ह,ै पता लगाए ंमक 7 बजे के मकतने ममनट बाि, िोनों सइुया िसूऱी बार 90 मडग्ऱी

के कोण पर होंग़ी?

A.10𝟏𝟎/𝟏𝟏
B. 11𝟕/𝟏𝟏
C. 6𝟗/(𝟏𝟏 )             

D.7𝟕/𝟏𝟏



• A group of eight friends – P, Q, R, S, T, U, V, and W are sitting in a straight line 

with north facing. P sits third to the right of U. Neither P nor U sits at the extreme 

edges of the line. T is not an immediate neighbor of either P or U. One person is 

sitting between W and R. Q sits at an end of the line. Q sits on the immediate right of 

P. T doesn’t sit to the left of S. R sits at the 4th position from either end of the row.

• आठ ममिों का एक समहू – P, Q, R, S, T, U, V और W एक स़ीध़ी पमंि में उत्तर की ओर मखु करके 

बैठे हैं। P, U के िायें स ेत़ीसरे स्थान पर बैठा ह।ै न तो P न ह़ी U पमंि के अमंतम छोर पर बैठा ह।ै T, P या 

U का मनकटतम पडोस़ी नहीं ह।ै W और R के ब़ीच एक व्यमि बैठा ह।ै Q पमंि के अतं में बैठा ह।ै Q, P 

के ठ़ीक िायें बैठा ह।ै T, S के बायें नहीं बैठा ह।ै R पमंि के मकस़ी भ़ी छोर स ेचौथे स्थान पर बैठा ह।ै

• How many persons sit between W and P?


